

Date	10/18/2021	
Estimate #		The state of the s
Fatimata	George Severe	THE VIEW
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To		
Williamson Co TX SO Jail		
Commander Christopher Watts		
508 S. Rock Street		
Goorgetown TV 78626		

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

Description	Location	Qty	Price	Total
022 Chevrolet Tahoe 9C1 RWD Police Pursuit Vehicle with EcoTec3 .3-liter, 10-Speed Auto Trans with Heavy Duty Cooler, Heavy Duty Clutch ype Locking Differential, Dual Batteries with 760-amp Auxiliary Battery, ligh-output Alternator, 20-inch Steel Wheels, Brembo Front Calipers with 6-inch rotors, Keyless Entry & Push-to-Start Ignition, OnStar with Bluetooth connectivity, Additional Key FOBs & Radio Suppression. (No Spotlight) urchased Through Holiday Chevrolet on Texas Smart Buy Cooperative contract # 070-A1 Series XS135PUR - Commodity Code 0710540306 foliday Chevrolet 009 Highway 82 West whitesboro, Tx 76273 in #'s ehicle is Purchased Through Holiday Chevrolet (Johnson – Grayson utomotive) - Make Payment to Holiday Chevrolet sustomer PO # for (2) Two Units @ \$56,148.00 each - Total is 112,296.00 - Make Payment to Holiday Chevrolet	LUCATION	2	33,900.03	67,800.0

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		
Fatimata	George Severe	THE PARTY OF
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To		
Williamson Co TX SO Jail Commander Christopher Watts		
508 S. Rock Street		
Goorgetown TV 78626		

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

Georgetown TV 78696	Cuctomer E man		- CWatto@Wii	9
Vehicle Base Color - Black				
Description	Location	Qty	Price	Total
Vehicle titles should be in the name & address of:				
Williamson County				
Attn: Hillary McCoy 710 S. Main St., Suite 301				
Georgetown, Texas 78626				
ossigatomi, rondo roseo				
For Payment Email Invoice only to:				
SO-AP@wilco.org				
Williamson County				
Attn: Peggy Braun				
508 S. Rock St.				
Georgetown, TX 78626 512-943-1100				
0.2 0.0 1.00				
Per Micah on 06/18/19				
Ship paperwork to:				
Kevin Teller - Fleet Director				
c/o Williamson Co TX SO				
3151 SE Inner Loop-Suite B				
Georgetown, TX 78626 512-943-3368				
312 343 3300				
Williamson Co TX SO - WO # - Work Order				
Tech Note: The Lighting Program was supplied to Defender Supply by Marc				
Courville @ Federal Signal & Approved by Williamson County - This				
program is the only Program that can be used & must be used by all techs				
on all units. Light Sequence is Red/Red/Blue/Blue - Unsynced				
No Paint or Graphics on these Units.				
Emergency Equipment is Purchased Through Defender Supply using The				
Tarrant County Cooperative Contract # 2019-181				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		The state of the s
Fatimata	George Severe	THE PARTY OF THE P
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To		
Williamson Co TX SO Jail		
Commander Christopher Watts		
508 S. Rock Street		
Coorgetown TV 78626		

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

2022	Chevro	olet Tah	ioe 9C1

2022 Chevrolet Tahoe 9C1 Verlicle base Color - Black				
Description	Location	Qty	Price	Total
01/19/21 - George on these new units, want to know if we can go back to single spotlight on drivers side only?				
2 Year Texas State Inspection Certificate		2	7.00	14.00
Defender Supply Driver Side Spot Light with LED Bulb for 2021+ Chevrolet Tahoe 9C1 & SSV. Includes Installation.		2	560.00	1,120.00
Federal Signal Spectralux ILS Low Profile Off-Axis Style Interior Mount LED Warning System with Red/White LED Reflectors Driver Side and Blue/White LED Reflectors Passenger Side for the 2021+ Chevrolet Tahoe 9C1 & SSV		2	806.00	1,612.00
Tahoe rear ILS with driver Red/Amber and passenger Blue/Amber. Designed for use w/ Pathfinder or Smart Siren		2	750.00	1,500.00
Federal Signal Siren/Light Controller with 17-Button Controller, 100/200 W, OBDII with Integration Capability, Integrated Rumbler Capability &Integrated Dual-tone Capability		2	1,273.365	2,546.73
25-ft OBDII interface cable, for use on 2018-2020 Chevrolet Tahoe, 2017-2019 Ford Police Interceptor Utility,		2	139.505	279.01
2018-2019 Ford F-150, 2018-2020 Chevrolet Silverado Federal Signal 24 Channel Expansion Module for Pathfinder Siren/Light Controller		2	228.045	456.09
Federal Signal ES100C/DynaMax, 100W, High Output, Compact Design, Class A Speaker		2	156.00	312.00
Federal Signal ES100 Speaker Bracket, Universal Bail Mount Design		2	22.10	44.20
Federal Signal Pair of Rumbler® Low-Frequency Siren for Police Vehicles Delivering up to 10 dB more Sound Pressure		2	349.715	699.43
Federal Signal Rumbler Brackets, 2021 Tahoe		2	42.04	84.08
Federal Signal Heavy Duty PBX Series Push Bumper for 2021+ Chevrolet Tahoe 9C1 & SSV		2	641.09	1,282.18
Federal Signal - PBX Series Push Bumper Wing Wrap for a 2021+ Chevrolet Tahoe 9C1 & SSV		2	400.035	800.07

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		
Fatimata	George Severe	THE PARTY OF
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To
Williamson Co TX SO Jail Commander Christopher Watts
508 S. Rock Street
Goorgotown TV 78626

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

2022 Chevrolet Tahoe 9C1 Vehicle Base Color - Black

2022 Chevrolet Tanoe 9CT Vollido Eddo Goldi Eldok				
Description	Location	Qty	Price	Total
Federal Signal - PBX Series Push Bumper Four-Light top-channel for Chevy Tahoe 9C1 & Ford F-150 bumpers, use with MPS600U or MPS620U lights		2	32.485	64.97
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White - Mounted on Top Rail of Push Bumper & White Lights to Function as Alley Lights too.		4	100.7625	403.05
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted on Top Rail of Push Bumper & White Lights to Function as Alley Lights too.		4	100.7625	403.05
Federal Signal - Dual Color and with 6 LEDs Corner Lights with In-Line Flasher in Red/Blue - Mounted on Front Corners of Front Bumper - See Past Build Pictures on WO # 18221		4	75.10	300.40
Federal Signal Micropulse Ultra 24 LED lighthead Dual Color Surface Mount Light in Red/Blue - Mounted on Each Side of the Rear License Plate to Body of Vehicle - Vertical - Up & Down		4	118.5025	474.01
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White - Mounted on Running Boards (Four per Side - Front to Back is RW/BW/RW/BW) & White Lights to Function as Alley Lights when Activated		8	100.7625	806.10
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted on Running Boards (Four per Side - Front to Back is RW/BW/RW/BW) & White Lights to Function as Alley Lights when Activate		8	100.7625	806.10
Kit of four 5-degree rubber mounting wedges for use with MPS600U lights		4	15.585	62.34
Federal Signal XStream Interior Mount Warning Light, Dual Head model with wire lead, Tri-Color-Blue/Red/White - Mounted in Rear Side Glass – Programmed to do White Alley Lights when Activated		4	201.50	806.00

Final sale amount may be subject to state and local sales tax. $\ensuremath{\mathsf{PLEASE}}$ NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		
Fatimata	George Severe	THE PARTY OF
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To	
Williamson Co TX SO Jail	
Commander Christopher Watts	
508 S. Rock Street	
Coorgetown TV 78626	

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

2022	Chavi	rolat	Tabe	e 9C1
 2022	Cnevi	roiet	ı and)e 9C i

2022 Chevrolet Tahoe 9C1 Verificie base Color - Black	Location	Otre	Duine	Total
Description	Location	Qty	Price	Total
Federal Signal MicroPulse Ultra 620, Dual Color Surface Mount LED Lights in Red/Blue with Clear Lens, Intended to be Flashed with the Pathfinder Siren Controller & has Dimming Capability - Mounted on Bottom of Liftgate		4	94.05	376.20
Defender Supply TAHOE Prisoner Partition with Full Across Poly Window with Center Slider, Recessed Center and Lower Kick Panels. Includes Shipping and Installation.		2	645.66	1,291.32
Defender Supply Surface Mount Dual Weapon Universal Cuff Lock with 8 Second Timer, Switch, Defender Supply Gunlock Wire Harness. Includes Installation.		2	452.50	905.00
Defender Supply TAHOE Cargo Barrier with Mesh Window, Plastic Prisoner Seat with Center Pull Seat Belt System. Includes Shipping and Installation.		2	1,585.00	3,170.00
Defender Supply TAHOE Steel Window Guards . Includes Shipping and Installation.		2	361.84	723.68
Defender Supply TAHOE Prisoner Door Panels. Includes Shipping and Installation.		2	362.50	725.00
Defender Supply Rear Seat Dome Light - Includes 2, 3" Round Red/White Dome Lights Mounted Over Rear Driver and Passenger Side Seat with Switches on the C-pillar for the Coresponding Side. Includes Installation.		2	258.90	517.80
Defender Supply TAHOE Console Package - Contoured Police Console With Dual Cup Holder, Arm Rest, 2 Magnetic Mic Clips, Base Plate. Includes Installation.		2	806.90	1,613.80
Whelen LED Flush Mount Compartment Light in Red & White - Mounted over Console with On/Off Switch		2	46.95	93.90
Havis Docking Station with Dual Pass-Through Antenna connection for Panasonic Toughbook 33, 2-in-1 Laptop with Power Supply		2	995.005	1,990.01
Defender Supply Computer Mount; Console. Includes Installation.		2	421.85	843.70

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		
Fatimata	George Severe	THE PARTY OF
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To	
Williamson Co TX SO Jail Commander Christopher Watts	
508 S. Rock Street	

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

2022	Chavro	let Tahoe	901
2022	CHEVIO	iei ranoe	30 I

2022 Chevrolet Tande 9CT				
Description	Location	Qty	Price	Total
Havis 2 Inch Blank Faceplates Havis 1-Piece Equipment Mounting Bracket, 4' Mounting Space, Fits Federal Signal Smart Siren SSP3000		2	0.00 0.00	0.00 0.00
Havis 2.5' Console Equipment Bracket for 1-Piece Motorola XTL-1500 Havis Equipment Bracket for Panasonic Arbitrator - ARB-WJ-VR30 Havis Faceplate 1-Piece Equipment Mounting Bracket, 3.5' Mounting Space,		2 2 2	0.00 0.00 24.95	0.00 0.00 49.90
Fits Misc. Carson SC-409 Streamlight SI-20L Nimh Flashlight - Mounted inside the console towards		2	128.945	257.89
the rear. See Customer Supplied Pictures. Streamlight Stinger DS LED - 12V DC Steady Charge - Mounted inside the console towards the rear. See Customer Supplied Pictures.		2	108.415	216.83
Defender Supply Rear Hatch Dome Light - Includes 2, 3' Round Red/White Dome Lights Mounted On Rear Hatch, 1 On Each Side, Switch, Defender Supply Dome Wire Harness. Includes Installation.		2	203.90	407.80
Make & Model of Customer Supplied Police Radio - Motorola APX7500/DB/Dash Mount O5 Control head - Customer to Install, Please Pre-Wire for One Piece Radios Does the Customer Supplied Police Radio need to be "Hot", Powered all the time or on Ignition - On Ignition Is Customer Supplied Police Radio a One or Two Piece Unit - One Piece What is the Frequency of Customer Supplied Police Radio - 800Mhz & VHF				
Customer does NOT wish to have the radio rebroadcast feature.				
WilCo will install the radios in all of our units in house. Defender only needs to install the antennas, radio speakers, battery lead wire, and ignition lead wire to the console. Pre-Wire to Console for Radio Power, Ground & Roof Antenna.				
Motorola 13-Watt Police Radio Speaker with Mounting Bracket - Mounted in Console		2	88.70	177.40

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		The state of the s
Fatimata	George Severe	THE PARTY OF THE P
Estimate	george@defendersupply.c	THE CONTRACTOR OF THE PARTY OF
Бу	903-771-0845	

Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Gaargatawa TY 78626

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

0000	Chevro		~~4
1 -211-2-2	Chavra	IAT I AN	1 10 AA
LULL	CHEVIO	iel laii	IUC 30 I

ZOZZ ONEVIOLE TUNOC SOT				
Description	Location	Qty	Price	Total
Tahoe Roof Antenna Placement				
800 MhZ Antenna – Roof mounted between B-C pillars VHF Antenna Roof mounted between B-C pillars Bluetooth Antenna roof mounted on pass. side between A-B pillars Panasonic Arbitrator Antenna - Mounted between the A-B pillars. Multi Purpose GPS Cradlepoint Antenna - Mount between the C-D pillars.				
Note - Cradle Point Mounting Placement:				
CAT 6 Cables go in these locations: Blue Cable - CP to Dock White Cable- VPU (PC PORT) to Dock Customer is not using the "RED" Cable any longer				
Defender Supply TAHOE Premium Single Drawer Storage Box. Includes Shipping and Installation.		2	1,845.00	3,690.00
Window Tint - For Two Front Windows - 20.0% Tint Please		2	85.00	170.00
Wash and Prepare Vehicle for Delivery to Customer		2	100.00	200.00
Vehicle Dealer Prep		2	130.00	260.00
Misc. Shop Supplies		2	30.00	60.00
Shipping of Above Emergency Parts for Upfit		2	150.00	300.00
Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use		2	599.95	1,199.90

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		THE PART HOLD
Fatimata	George Severe	
Estimate Bv	george@defendersupply.c	
Бу	903-771-0845	

Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Coorgetown TV 78626

Customer Contact	Christopher T. Watts
Customer Phone	512-943-1407
Customer E-mail	cwatts@wilco.org

2022	Chevrolet Tahoe 90	1
------	---------------------------	---

Description	Location	Qty	Price	Total
Panasonic Arbitrator 360 CAT 6 Blue Cable CAT 6 White Cable Radio Power & Ground Mobile Power (HKN4191B) ANTENNA, GPS/BT/WIFI, VEHICLE (AN000163A01) CABLE, MOBILE ACCY/IGN POWER (HLN6863B)		88	110.00	9,680.00
Tech Note: The Lighting Program was supplied to Defender Supply by Marc Courville @ Federal Signal & Approved by Williamson County - This program is the only Program that can be used & must be used by all techs on all units.				
Tech: Please used Loc-tite on all Brush Guard Bolts				
Customer will install their own radio, please run Power, Ground & Antenna Wiring to Console				
For Customer Supplied Parts, Tech Support or Panasonic Camera Assistance contact:				
Paul Best Public Safety Systems Administrator Williamson County ITS Office – (512) 943-1481 Fax – (512) 943-1474 Paul.Best@wilco.org				
No Vehicle Paint or Graphics - Customer is doing their own Graphics.				
Delivery to Department		2	350.00	700.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total



Date	10/18/2021	
Estimate #		
Fatimata	George Severe	
Estimate Bv	george@defendersupply.c	
Бу	903-771-0845	

Bill	То
Williamson Co TX SO Jail Commander Christopher Watts 508 S. Rock Street	

Customer Contact	Christopher T. Watts	
Customer Phone	512-943-1407	
Customer E-mail	cwatts@wilco.org	

2022 Chevrolet Tahoe 9C1	Vehicle Base Color - Black				
Desc	cription	Location	Qty	Price	Total
Deliver Vehicles to: Fleet Maintenance 3151 SE Inner Loop-Suite B 508 South Rock Street Georgetown, TX 78626 512-943-3368					
Call 30 minutes before arrival.					

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle & Emergency Equipment Total	\$112,296.00
-------------------------------------	--------------

Signature	